Kiz Mobility
2

Rogue2 Luggage Carrier

Item Number Part Number  Description Quantity

1-8 504465 Luggage Carrier Kit, Rogue/RG ALX/LW XP 1

1 003430 Luggage Carrier Fork Assembly 2

2 003412 Luggage Carrier Clamp 1.375 4
Used to mount Luggage Carrier to the frame

3 003413 Luggage Carrier Barrel 2

4 100780 M6 x 25 SHCS ZC 2
Only used when Luggage Carrier is mounted to the frame

5 100658 M6 Nylock Nut Blk Zn 2

6 100667 M6 x 12 BTN SHCS BLKZC w/Patch 4

7 003409 Luggage Carrier Clamp .75 4
Used to mount Luggage Carrier to the footrest
tubes/extensions

8 101845 M6 x 22 SHCS BIk Zn 2
Only used when Luggage Carrier is mounted to the footrest
tubes/extensions

12-27-2024



